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3 ' WAKA
unaﬂms&rgn@é\ Lig L] @S et QB wg
A)  gramREeT ' B} - eflevdidleriieet
C)  ysvsugwhser/iurldssi DS Uréieur.
Palaeontology is related with
A) plants ' B}l animals
C) fossils D)  bacteria.
PG scpssSeailear aurpsbas epewb uauTgeneiyd alfiggiemyiug
A) gealarssaiucd B) mrrg@aﬂméu
C) meufue D) Qediaiud.
The description of a society's culture and its way of living is called
A) Ethnograp.hy ( Inavilakkaviyal ) ‘ B}  Anthropology ( Maanudaviyal )
C) Realism ( Nadappi‘yal ) D) Classicishl { Chevviyal ).
AL AT L AflerCuirgy ‘G Béad sallyaemray sﬂj;u@ég:.’:ul'_l_ 24,6007 (B
A)  guye, 1800 B) g®dr, 1800
C)  Gw, 1801 Dl gosr, 1801.

‘Dindugal Federation’ was formed during the South Indian Rebellion in the year

A)  April, 1800 ' B) June, 1800
C)  May, 1801 ?1' June, 1801.
LR et Whpih mso'vgu‘ufuasﬁ aehaTe HmalleaTal LusTUDSSLILGEHETHT 7
A)  ysteflalleunhisaner Ceafés B) uglurley Gsluw
C). unteneub@ebs peopdd meaubs D) Qsress. N
Diagrams and graphs are tools of o
A) collection of data _ B)  analysis |
C}  presentation D) summarisation.
Bl sflavrar aaflln cagags QaramyElUug
A)  giflevenr B) wsryraw g
C)  syeveumid ‘ D} sblpEr(.
[ Tﬁm Qvef' '

e e i e




WAKA 4
The largest share of miﬁeral resources is. accounted by
A) Orissa B)  Maharashtra
C) Assam D)  Tamil Nadu.

6. o persdld wisaGsTome 5,13.200. @& wuGLEShe 12% adap alflsssdle
2 WIHSTE, (PTD BL BGER&EE IDG Abberssldar weaeblgrams aeaaouns

Qs ?
‘A) 7.12.,009 B) 7.10,029
. C) 7.21.009 D) 7.92.100.

The population of a city is 5,13,200. If it increases at the rate of 12% per

annum, what will be its population after 3 years ? '
A) 7.12,009 - B) 7.10,029
C) 7,21,009 D) 7.92.100.

7. &l @p. 3 Qb HIHOIEILE WHE FWET WIHTH B Gubp G b

A)  eeusmedl B) wrLedlugdlimo

C) eyt . D} " grgmélyab.

The first Jain council was held at................... in the 3rd Century B.C.
A} Vaisali B) Pataliputra

C) Kashmir ) D) Rajagriha.

8. egbonEn pallssbon whpib gilue qpefl gatan 2 aomwsg
A) | MASER B) LASER
C) TESTER D) MASTER,
An enhanced beam of monochromatic and coherent light is called
A) MASER B) LASER -
C) TESTER D) MASTER.

9. QGurfles, 2.8 $&s ofjfsciel GOLURGERGEGD. UTENW SpeTesl  anphdu
Hlevisefler Guwr,

A dmalleniwm o B} Jgoulsui

C) e dyiulyg D)  Peampsb.
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10.

11.

123

13.

5 | WAKA

What is the name of the land donated by Pandiya kings to the families of the
soldiers who lost their lives in the battle ?

A) Thiruvidaiyattam B) Bhrammadeyam
C)  Uthirapatti ‘ D) Nivantﬁam.
ep&abhaThBle eH@h srTmubeamg Seaoiblu LweTLHD CurmsT *
Al MnQ,, { Quiiseatsy L S Hemen ) ‘

B) KMnO; ( Qur’ Lrdlubd QuinriesGerl )

C} K,Cr, 0, ( Qumricmdlub smt.-e's@@mr@mL )

D) KNO; { @uWLI_[T@UJI:D empl Gyl ).

The ox.idant used in the testing of alcohol in breath is

A} - MnO, B) KMnO,

C)  KyCr,0, D) KNOj.

FClp snpli Perereupidles @HHw _&rjéﬂmammu;uq &LL&,@G&T ape Uifley urymesoedmid
uSusrs sdle Ghdlw ysILETivoL 2 (HauTES sume Gleldlng 2
A)  Ufley 303 : B) Jfley 307

) Gfey 309 . ' : D) . Ofley 312.

Which one of the following Articles- of the Constitution of India authorises the

Parliament to creaie new All-India Service 7

A} Article 308 | B)  Article 307
C) _ Aticle 309 D) Article 312
@L&@gbrrl_'_q%r @LI;ITQ?@ mHleoliLFliLeTey _ | '
A} 13 eledegy &S - B} 21 ewl&b sgy &5

c) 31 ;s\n_‘_&fn sgiy &l . D) 14 é}L&m 5T Hlu85.

The total land area of the state of Tamil Nadu is

A) 1'3 lakh sq. km _ _ B) 2-1 lakh sq. km

C) 3-1 lakh sq. km D) 1-4 lakh sq. km.

QoL@ SFlael eTupgId CUPSHBHD WPHET (LPGHE a}}g;& Gamrpett Hragdles Coramhug
A waerDd @pre Qe ' B) @urGapdiyen

C)  poerd GureTdgree D] (paard gCarsaitiees.
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WAKA 6

In which Chola King's period was the practice of writing of 'Meikirti’ started

first ?
A) Raja Rajan | ‘ B) Rajendran
C) Rajathi Rajan | D)  Kulethungan I.

14.  &péaaileauphle ag Geuslluumr & small @oeme ?

| A eluGumsd B) &seflall pafigdleonr
C)  enpssb D) QGevafr &siQurl.
Which one of the following is not an output device ?
A) Speaker B) Computer monitor
C) CD D) Laser printer.

15. & fia) pevLad Gposeiar euflGu &flop CQuiker KasiLGals)
A} algesd B}  geuqu( Ul
C) ST & HL_HH6 D) smeuorL_Moeh HLSHSH60.
Passage of waste product in the renal tubule is an example of
A} diffusion B} osmbsis
<) active transport D)  passive transport.

16.  Uereupeuareuppier @@ uhen Qariurer Hlkpsssal.Lb @uoniirg oy eo® 2
A) 1955 B) 1976
i) 1986 D) 1992.
In which of the following years Citizenship Act was not amended ?
A) 1955 ' B) 1976
C) 1986 : D) 1992,

17, Uereumeuetsupier geummes G)eneoteow &evorLBHlueyn 7

A apGs wrarb — uBRSD shdly sL e
B) euhsudflailames _— oSl et Sy

C) Qeugmresorub wrsHeniy — @yregTed

D) @pdlu Caélu Gyregmain — Bmardl.
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7 WAKA

Which of the following is incorrectly paired ?

A) Vande Mataram — Bankim Chandra Chatterjee
B)  Partition of Bengal — Lord Lytton '
C) Vedaranyam March —  Rajajt
D) Indian National Army — Netaji.
18. wpp e fflaomemer oam® eryd 2 dflemset ... s oTest
o1& LD b1 men . _
A} msfCeumisel B} 2 pugdlurentae
C)  Slenslueasef D) srpedorenlaat.

Organisms which eat other organisms are called
A) - consumers B) producers
) decompeosers . D) ' saprophytes.
19,  enbersiv-L_mev eretiLig) | )
A 5o smael ' B) . @ LT {H CodToum e
C)  ® ‘Qéma'\;urn'_@ GuoesTGlLT (Bels D) ' ® susiGlungmef,
MS-DOS is the name of
A} a device | . B)  an application soétware .
C)  an operating systen; 7 D)  a hardware.
20. uedoysefler o e dlevrer Lsielialeurhsenersd eswrear’ LweTLRD FTme)
A) el (péayme - B) @@L@Gmsu
C)  @eesagmeif | D)  Qupses syrefl.
" For dealing with qualitative data, the best average js
A) Arithmetic mean . B}  Median
Cl!  Harmonic mean D} Geometric mean.

21, yeldlesr egmaf) sy igd

A) - 5517gem™ | B) ligem™
¢} 3gcm™ D) 35gcm™.

The average‘ density of the earth is

A) 5517 gem™ B) 1lgem™

¢) 3gem™ ' _ D) 35gcm™.
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WAKA 8

22,

24,

25.

SEUDITEOT TEot &Tg) ?

5,11, 23, 47, 90, 191, 383
A) 11 B) 47
C) 191 D) 90.
i?ind out the wrong number :

5.11. 23, 47, 90, 191, 383

A 11 ‘ B) 47

C) i91 D) 90.

@hdu epsrer Casdlu dymoliyp Caemesuriniiyg ggh'_l_f:) ( NREP ) 6ips 2168610
S PHLLPSHUILLL-8I 7

A) 1978 B) 1979

C) 1980 : 3) 1982,

In which year was ‘NREP' { National Rural Employment Programme ) launched
by Government of India ?

A) 1978 B) 1979

C) 1980 ' D}  1982.
SARFAES] L 6% Crrésssgisensd oy biieaiun L g 7
A) | LIti& & shensew el HLUBSs

B) (PSRN & SHENBO 6 WRGLEES

C) @g‘ﬂéé\i;l_g,emg; Erogiu

D) eundsefiler aeioaniisener QFLOUNSS.

SARFAESI Act was introduced for the purpose of

A) controlling stock exchanges

B)  regulating capital markets
C) streamlining the financial system
D}  enabling the banks to realise their views.

&|Dé s eooT_suhmyeT SO apesTHID HTel LD el HPphHULDS Tay ?

A)  Geusuds Sli_Lb ' B) C.R. &b

C)  SeoOWnssTee SIH&E) S b D)  Gwenesors Gui_ies $hiib.

x [1601] 701
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9 WAKA

Which among the following was known as June 3rd Plan ?

A) Wavell plan B) C.R. plgn
C) Cabinet mission plan D) Mountbatten plan.

26. A, B m{b@m C uetidley 2 steneuiamei: B, A whnub E uggseuteser: A, C wpb D
Bead susdureiauisst: D, A whpb E Gpiowvwreianises eafies, @dler wmt
uesollleéy 2 efranaut , eugdlurerald, g enre Guienowbpeut ? ' '

A) B ' B E

Y A D) C.

A, B and C are employed. B, A and E are educated. A, C and D are very rich.
D, A and E are honest. Who is employed, very rich but not honest ?

A) B | B) E

o A D) C

27.  euGrneyes areupesaibme’ ahs 2 Garssdlan sTakm ma
A)  Guwer_Cevailwid B) worellineend
C)  waedub D) & Orhiees.

Pyrolusite is the mineral of
A) | Mendelevium B)  Molybdenum
C)  Magnesium D}  Manganese.

28,  paGened predlsh erbprofesasnd sribsa 2
Al B&TUYDD B) umper
C) Hyrwbd D} SuwenTd.

To which does the Indus valley civilization belong ?
A} Urban - B) Suburban
Cy  Village D}  Foreign.

20. #Gp 2cioraimeiie g @hdu  opdue slLghdr  Hpiy é{m&rﬁ&smraa
FamLB&sIme 7
A)  peowet/gdur peop e, hespum’é whinb el 8 e
B)  urgr@suenp, sphepur sl bhnd Gyesldl wep )
C)  UTE@HOeTD, sait Ll &l whpib uesl &) (peom |
D) umymEboettp, ebenwir &l phnid Ul & (weop.
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WAEKA 10

Which among the following is related to the features of the Constitution of
India ?

A) Presidential, Unitary and Two-party system
B) Parliamentary. Unitary and Two-parly system
C) Parliamentary. Federal and Multi-party system
D)  Parliamentary, Unitary and Multi-party system.
30.  &eSID UGHtID GTeSTMITEY 6TedI6dT 7
A) &b asashd @updeid CHTLE + bissfildas Caemes emeuliy
B) uw&adldr evaeus CHTL(H + Syehee Hineusorb Celliy ety
C) waeellar maas Cpri@ + cudlaefler Qurgsme aeully + CoHema emeuliy
D) whaealler asmous CHTL.E + eumalle@id ey,
What is Broad money ? A
A) Currency with public + demand deposits of the publie
3) Currency with public + poé;t office savings deposits

Q) Currency with public + time deposits of public with banks + demand
deposits

D) Currency with public + derived deposits.
31. &pheasieubrs ‘@FCurpwb! ussiflébameles o Sflur wir 2

A)  sUpweoeiw Sleur B) dlp. ol .
C) fpevseo. Slyborésnf D) &l el eev. gpuirt.
Who among the following was the editor of "Suryodayam’ ?
A) Subramaniya Siva I3)  Thiru. Vi. Ka.
C) Neglakanta Brahmachary ) V.V.S. lyer,
32 Qea@ed-Canales® HEHW «oovrvriiinn é 2. clieny).
A)  QuBemeudellwi B)  LGyrGuireucolwr
C)  gpuBerreuvsoiwi D) eulyrGiinencolwi.

Kennelly-Heavyside layer is present in the

A) Mesosphere B)  Troposphere

C) lonosphere D}  Stiratosphere.
33, WNetmluGurt penLQUDHD 460010 ‘

A) 1764 B) 1765

C) 1757 D)  1857.

x[1501 701
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34,

35.

36.

37.

11 WAKA

The battle of Plassey took place in the year

A) | 1764 B} 1765

C) 1757 Dy 1857.

2ubler WemLp 2. (HeUIre &ITr6oord

A) B wreEUTE o B)  spedl mraum(
C) &y wraurd D) e wrasur®.
Acid rain is caused by 7

A) water pollution ‘ B)  noise pollution
C} air pollution | D}  land pollution.
Apared Gerpr urbuareswus Cerdneissant urt 7

Al (Pp@ouTd B)FTEDITMEDesT B)  uprhgsest

C)  ellgpuirevwsest D) o dgw Garpes.

Who was the founder of the Imperial Chola dynasty ?

A} Rajaraja | 4 B) Parantaka

C) Vijayalayan D)}  Aditya Cholan.

vefledt euwgi-2 HCsewme

A) 45 Naeflues aupLiisst B 18 Naefludn aup i
C) 2250 Newellwest eusl_iger D) 1950 Héveflwedt eugmL.tugefr.
The age of the earth is about

A) 45 billion years B) 1-8 billion years

C} 2250 million years D} 1950 million years.

“GlgvaliL. @uenn m@mfrsmfn" ETESIMITE CTeiest ?
A HETBLIT QBLDTESTD LDITESTLID (RIS IT S

B}  eufl Glaeuey Gurs 2 sier Blar sumoreid
C)  sellpul eumorend wrpr Caae Hhieeurs
D) Gaélw eumresrivo Gpiimeann Bhiseurs.

Disposéble income is equal to

A personal income minus subsidies

B) personal income minus t&es

C) perscnal income minus transfer payment
D) national income minus depreciation.

x 1601 701 { Turn over



WAKA 12

38. aseure Gaus genalleoad sl OUURSSaD., ugrofléaad ‘sairs awwb 2_eiaang
PHIT (PHTE &eioT HlbsHeur ‘
A) Lfﬂeiuameije'méﬂ B) Gameil
C)  GueSis D) evLmiredli.

Who first reported the presence of ‘respiratory centre’ which maintains and

conirols the rate of respiration ?
A) Mislavsky B) Collip
C) Bayliss D}  Starling.
39. 1979-b S @oGL &8 sTeuc oL sl Lgong Qubdiu wrflevd
A} Gergenm B) sy & eveydi
C} Guibhe eunsremDd D} sbpHrH.
The anti-defection law was enacted as ea;rly as 1979 in
A) Kerala B; Jammu and Kashmir
C) West Bengal D)  Tamil Nadu.

40. . e, g. alldr @yl @)eipd Hmen wrdlfleows el Plbsearser

A} eurlsem wpph &liflé B} Gmibev whnid Glwblecus e
C)  Gmésu wbmid csmyéam; D)  elledlemen whpid Gevaier.
Double helical model of DNA was discovered by : -
A) Watson and Crick B) James and Meselson

C)  Jacob and Monad ' D) Wilkins and Levene.

41. e5dlCupdly HemapT emeuevpmdlesr oyl floein G 2noudlsigre  Hlubss ol L

241 erg) ? T e
A) 1892 B) 1909
C) 1919 D} 1935.

In which year was Satyendra Sinha appointed as a’' member of Viceroy's

Executive Council ?
A) 1892 : B) 1909

C) 1919 ‘ D) 1935.

‘ x 1501 f 701



13 WAKA
42.  epiGaer 2 hbmrame SDhemeor gpestdler 2_salyL 6T GleubslILlL gl 7
A) . eTev. ereiy. By | B) Cuhg Gsipef -
¢y} owGe D) . ereh. q.
Rourkela steel plaﬁt was set up with the assistance of
A) USSR . B) West Germany
C} UK ' D) USA.
43. @b urymEpweTp Heo epempulier wehw GBI P PSILGSSILLL 2600T[H
A 1945 | B) 1950
C) 1962 D) 1976.
In the Parliamentary procedure of India, zero hour has been in existence since
A) 1945 B) 1950
<) 1962 D) _1976.
44, afgpé:&MLsu[bsm[D sresuflengling L 1gustife :
I Gyereu. gL b
. dlerus Quéesd
II1. LnrrcabT(Bt_@—@&Lbsh)(Surrr'r(@ ridlmssin
IV, someSiussT euTeUTLITE: GWITD.
Qeubmper sflunerens Cgie :
A) LI IV, I B) LIV, ILII
C) I, I, IV, III ’ D) I, 1L, IV, L.
Arrange ‘the following in chronological order :
L. Rowlatt Act’
II."  Khilafat mevement
III.  Montague-Chelinsford reforms
IV. Jalianwalla-Bagh tragedy.
Th;e correct order is
A) LILIv. 1 B} 1, IV, 11, 1II

C) I 1, v, i Dy IooLmw, L

x [1501 | - 701 [ Turn over

[




WAKA 14 -
45. gllppTige, NH 47 Gp{HiehsTane
A) Geeb gpse searaihurglof cuemy
B) wgey pse @rrGuweveurnd aienry
C)  srelulgerd pss CamubLSeTT eueny
D) Qeateear s danfass aemry.
In Tamil Nadu NH 47 is
A) Salem to Kanniyakumari . B) Madurai to Rameshwaram
C}  Nagapattinam to Coimbatore D)} Chennai to Dindigul.
46.  dpsectorieupniel QL cved gliLbsD eTesTn HeoPsHILGaS) g ?
A) &G liuhsh B} gsc;Trr UUBSID
C)  erpd @iale quUbsD D) @w&Lament..
Which among the following was also known as Delhi pact ?
A) ‘ Lucknow p;act B) Poona pact
C) Gandhi-iIrwin pact D) Communal award.
47, EP&ESHEITL Snhrisener s ¢
. L aTemaen aetugl e mGerCLrl @by e seatébeR.

I @ 2 dflomseilsr Hasasla 2 der Nk GoDbs Sieney Hysd wHDID
2 AT QT HeTaamensd: sebdll 2 gaydng.

@lsubpier :
A) I Lng')gjfn I sflurestemey B) Tuwbhmb II gaiprareney
C) lef, Il geumy D) Iseumy, I &l

_ Consider the following statements :
L. ELISA is a isotopic immunoassay.

1I. This is used for the determination of small quantities of proteins and
other biological substances.

Of these
A) 1 & 1I are correct ) _ B) I & Il are wrong
C) lis correct, Il is wrong _ D) Tis wrong, Il is correct.
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sevemu() BTaIbsHer Qebleyl L LWETLRSSHD (pedD .
A)  eoswrd Caiey QElge B) erhaalwé lj]rﬂgj;g,é:) '
) yelSioy wonte INsCsGssd D) g ng,uq apeom.
Sulphide ores are concentrated by |
A) hand picking B) magnetic separation
C) gravity. separation D}  froth floatation.
Caitalley Lo ezT 6L 66l eéT QEFweur( :
50 &@ CubHD ’
G - 40 whHmIb 30 wppib 20 wpHpibd
s <iBH© Gue 2i5be Coev | 2BHE Gioed
s | 9 40 _ 74
YAV ‘ 5 30 . . 65
grmre 6 35 70

Snudlosdle Gopbsulsh 60% wHiuda G wramatamen symefldle .
Gonhesulsd 40% wHlCuas Qubn wWLrearsarT{H @u@@m&:uﬁle\s dlem_&@id
wrematseflen sgaldlgh aerer 2

e b - L et ¢+

e mme———— i 1 e

Al 43% ‘ B) 41% o
C) 50% : D} 45%.
Performance of students in an examination :
Marks )
Qut of 50 | 40 and above 30 and above 20 and above
Subject .
Tamil 9 40 L 74
English 5 30 65
Aggregate 6 35 i 70

The percentage of number of students getting at least 60% marks in English

over those getting at least 40% in aggregate is approximately -

A) 43%
C) 50%

x [1601]

B)
D)

41%

45%.
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50.

51.

52.

Careur @hdlu Gigurdér GememdsiulL amLD argl 2

A) - 19856 B} 1959

C) 1961 _ D) 1962,

In which of the following years Goa joined Indian Union ?
A) 1956 B) - 1959

C) 1961 - D) 1962. .
2009-10 (b 6001460 UTOIHS ( Syemeot g GUT(heTHefled ) &Haipd
Al 14-4% B} 10%

) 8% o D 1%
Annual rate of inflation of all co.rnmc')dit'lés in 2009-10 was
A) 14-4% B) 10%

) 8% D) 11%.

s&HHT Ghelunailer (pser giemeoots Ny siof

A)  ergmi susvesuri LGL e ' By* &gafmeﬂ’ré:

C) Qgsgleueiymbd . D}  Guenen.

The firsf Deputy Prime Minister of free India was

A)  Sardar VallabhatPatel © = B) Charan Singh
Cl Jagjivan Ram D)y Menon.

il spdcuens Blnsdearme, o utdleGuea g s Carpp walliy

A) | adher Gsdan ofsfNasn

B} aoenr GLsdlend Gempyb

C)  eréveem GL-sSlepid FowTs EHmHEHED

D) - fe @Lrﬁi&:aﬂé\) <i@laflgad whn Hev @Llﬁléaeﬂé\) FLLTEHD GYHEHSD.
If the earth stops rotating, the apparent value of g on its surface will

A} ihcrease everywhere

B) decrease everywhere

C) remain the same everywhere

D) increase at some places and remain the same at some other places.

x[i501] 701
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uréluref suememuhser Geubile sraiLbelerpe -
A) urey @@rnGurGembaet . Bl seGerGeirbas
C) .o CLrGambaer D) urelesr @CrrCunGerbesi.
Balbiani rings are found in |
A)  sex chromosomes B) . allosomes
C) autosomes . D)  polytene chromosomes.
HeTHQETEN & TRTLmEY
A)  yser, @Gue;'rsﬂ .sqmﬂ LoHpd Glesiauml
B)  Qeusfrefl, yall. Qeelaumi whpid eflumpes
C) ellurper, safl, yGnerev whnid OBLIY LeT
D) yed, @&.siJsurnIJ'. eflwmipedr HTD & 6ot
Terrestrial planets are
A) Mercury. Venus, Earth & Mars
B) Venus, Earth, Mars & Jupiter
C) Jupiter, Saturn, Uranus & Neptune
D) Earth, Mars, Jupiter & Saturn.
Qum’ gy wirmpey asbhars SPuLL@E DT 7
A) | SEIEmTTDEG Levaemend Sipad Rnailugre
B) subdly wrdled ghuBsdlusTé
C)  warreldles ngalewsens &@@éﬂu@l&,;ﬁwgﬁs\) - .
D) gl Ceamaram Nyéamerwume.
Potti Sri Raﬁlulu is known for
A) founding of Annamalai University
B) cré:atlon of Andhra Pradesh
<) prohibition in Madras

D} separate Telangana issue.

x ' 701 : { Turn over
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57.

58.

59.

60.

2009-10 Qurerrgny cueniédlles s Bpaid edgeaneonumeg wWTHeLTe: 2 g ?

A} 3 eug B}  4deus

<) 5 eugl . D)  6Geugl.

What is the rank of Tamil Nadu in economic growth among the states in India
during 2009-10 ? -
A)  3rd B}  4th

C) 5th D)  6th, )

wrfle sl Cueemaillar Gurgs 2 piflaraeie, agpamen Gueny o E@Bhi HluweTd
Qlgweurid ?

A} B)

C) D)

P =

What proportion of members can Governor nominate out of total members in
State Legislative Council ? .

A) B)

C) D}

|
Gil—= &~

walle @rse Heuiugnibedis sramiu@d seaure Hiplléad

A)  afCurgCenmie | | B) afbeflghan

C) afCurerswrsder D) @QemGrr@wpeurilesr. |
What is the respiratory pigment found in human RBC ? |

A) Haemoglobin ' B) He'merythri'n

<) Haemocyanin D)  Chlorocruorin,

£Cp QarGéauu L. ahs g Cgmy sflurs GQur@hgaldaame ?

A)  eooTéy LITemmEel -— GLgTIT
B) Opf wewié : — . @iy
C) saoemrbhyl utesn — — Sifweyrrr
D) euesoiLev — SHEHEMTeYT.

x (1807 701
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Which one of the following pairs is incorrect 7

A) Sandstone — Cuddalore
B) Terisand- : oo Dharmapuri
C) Limestone - Ariyalur

D) Alluvigm — Thanjavur.

Q,Lfﬂgp[bm_‘_qm smleigpm qpenp eGurg e fldatulLgl 2 |
A) 1947 : B} 1948

C) 1950 - D) 1952.
When was Zamindari system abolished in Tamil Nadu ?
A) 1947 B) 1948

C) 1950 B D) 1952,

Qupburere WbTeL L kisefe sBOPET g6 @lbus Oarflars QarLibs @GhHa

Qeram@ G klug

A)  ardlps Qamflé - B) e&gsdls Gamifle

C) 5&@1.-:1.‘.@5 Qg iple ‘ D) JgsQsmfbld

.................... conth:mes to be the family occupation in m;:)st of the districts in
Tamil Nadu.

A) | Pa;;er industry B) Handloom industry.

) | Match industry D) Beedi industry.

oo aarcfldigphba 24-m6 - sfléedb Gurg, @ b oredotaRlein g- (DLhishIT &
GODENG. b TN Glevsenneilear mBeeh wrg

A} 1 B) 9

o o D) 10,

when 24 is subtracted from a number, it reduces to its four-severnith. What is

the sum of the digits of that number ?
A) 1 B) 9

c) 11 D) 10

x 1607} 701 o [ Turn over
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64.

65.

67.

Gyneublerellen @& 2 Caraiisen

A} Mguwbmb Al B) Al wbmid Au
C)  Mn wpmyd Al D) Zn wHmb Al
Duralumin contains .

A) Mg and Al B) Aland Au
C)  Mn and Al I D)  Znand Al
Badu el dorew Sy ghuL g eiGuimsg 2

A) 1946 B) 1948

C) 1850 D} 1952.
When was the National Interim Government formed ?

A) 1946 B) 1948

C) 1950 D) 1952,
s yhgsnart elha aslean(® Cam iyl wg) ?

A Bobs sellos

B) émhg Breuc

C)  ofleflues  sblp - ouerEdliEg 2 salBD  euemsdle @;;uaﬂm@m
Qlnest QLT B el

D) meiyp Guourd.
“"Kaniyan Poongunranar” award is associated with

A) best poem

3) best novel
C) the soliware which helps for scientific Tamil development
D) urban development.

SlesTeU(haEtT QD IYET g LILISDL. 2. GETeUTS LeTURaIE

A)  wihwr, Curymée B)  erad 2 Oy, yhwr

C)  NHj, KCI ' D) S-onCoreflwbp wreltGul.
Which among the following is a sel of primary nutrients ?

A) Urea, borax B) Epsom salt. urea

C) NH,, KCl D) S-ammonium molybdate.

x| 1501 . 701
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68. ulgwe I & ulgue I oL Quimsdl. £Cp Qar@ésiun Geier gplessens

Qeressi(f) aflurer el awd CarhGla(

a)
b)
)
a)
@iPeer :
a
A) 2
B) 1
C) 3
19 4

g wé 1

Lieatiwmmy

Blevsglg Hir

240

HITHTY

2

3

4

2

1

1.

ulguwés XX
CIRLICY
FTHG
@) eBTGlevELIT &

surtuSen.

Matich List I with List II correetly and sclect your answer using the codes given

below :

a)
b)
)

d)

Co.des :

A)
B)
C)

D)

x| 1501

List 1

Glacier 1.
Underground water 2.
River 3.
Win;:l 4.

b c d

4 1 3 .

2 3 4

2 4 1

3 2 1.

701

List II

- Pothole

Cirque
Inselberg

Lapies.

[ Turn over
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69.

70.

71.

FCp QurPéslul Rerstameuseiles erg seunras @un@&,guul;@a%engj ?

Al 088 alerns Ujasen —
B)  myélboediwes —
C) aélapdly Aaset =

D) shél eurtoe —

Which of the following is incorrectly paired
A) Mattavilasa prahasanam —
B} Narasimhavarman —

C) Vichitra Chitta —
D) Nandivarman —

Byl Leslledt @efliTey elldl e fpliumesr g

A) allwest G UGlLwiTey afdl B)
" C) B Cue alld) ' D)
Newton's law of cooling is a special case of
A) Wien's displacement law B)
C) Stefan's law - D)

?

Gamilé
eurgm Il Q& mesoTL_Tesr
LD

Qgeugyiflest Guimr.

Temple
Vatapi Kondan
Title

Battle of Tellaru.

dlirery aNdl
e el ’

Kirchhoff's law

Planck's law.

utguwé I g ulquée I 2 Qurmsd, &Gy @&W@&&UUL@WW @hdfsenensd

AEL o) &rﬂu.lrrsm aSeoL ews CaipGls( :
uguwés I
a) & Glaululene Hlapey
b} Gleulu wrpBLbD Blapey
c}  oCsrGufls blapey

) oGerglrmilé Hlapey
@ﬁﬁ@ém :
a b c d
A) 3 2 1 4
B 2 3 4 1
C) 4 3 2 1
D 1 4 3 2

x 701
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U gue I
V iorled), P isboud T wrpid
T wrfledl, P whpd V wrmpb
Qleutiud 6 eowiNIHS ‘
S@oseiu Geur,
GleueNBupCeur Gevema
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"

Match List I with List II correctly and select your answer using the codes given

below :
List I s List II
a} Isotherﬁlal process 1.  Vconstant, P and T change
j i b) Adiabatic process 2. T constant, P and V change
i c) Isobaric process ' 3. Heat is neither allowed to enter
! : nor leave the system
i d) -lsochoric process 4. P constant, T and V change.
J - Codes : |
E a b c d
i A3 2 4
o B) 2 3 4 1
T C) 4 3 2 1
q ’ D)y 1 4 3 2.
72. oo Jfay Qe Ceueflller &b whnid (B;mgb.er@@sp&a% wpeonGu 10 whnw 40. G)@edr
eminw lDé;]DL{ '
A) 250 . ' B) 125
C) 150 Dy  30-0.
H the lower and upper limits of a class are 10 and 40 respectively, the mid-peint
. of the class is
A) 250 o B) 125 °
N ) C) 150 D) © 30-0.
73. 'mﬁlgprré&aﬁeh HEID’
A) &lgburgib Bl peramey
( C)  wgeT D) dHrorpdGeasd.
‘E ‘City of Festival is
A}  Chidambaram ' B) Tanjoré
C) Madurai | D) Tifunelveli.
X ' 701 : [ Turn over

EEMEEN




WAKA 24

74. uviguée I o ulgud I 2cer Curpsdl, £Cp Qarfssiul feter GPuRsmers
Qareso@) shlurar alev_awsd CoinGlad :

uigwee I urgues II
a) (Sunlq.[éwmés&,@Tﬁ 1. Qeupeeul
b) Hesiaor ey 2. ge&eEsml
c) 2 dleubulig ‘ 3. Le0 & Wism e
d) SHHUD 4, Yeval.
Golpser
a b c d
) 4 2 1 3
B) 2 3 2 1
C) 3 1 4 2

D) 1 4 3 4.

Match List I with List II correctly and select your answer using the codes given

below :
List 1 List II
a) Bodinaickanur 1. Arlificial silk
b} Chinnamanur 2. -Cardamom
c) Usilampaltti 3. Tobacco
d) Cumbum 4. Biscuit.
Codes :
a b c d
M) 4 2 1 3
13) 2 3 2 1
C) 3 1 4 2

x [1501 701
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75. Ownhm 2 AL H 2 husdee odle sere Ubdleat Geimib @ellHg s
A) Ceusrn oSt emin . By Qemféoemibs ali‘bug'ggﬁgjemg)
C) sl (oramsgeen ' D) Geaeubgieop.
The largest contribution to GDP still comes from
A) agriculture - B)  manufacturing industries
)} construction ‘ vl services,
76. Lﬁleﬁr@@LJmﬁaaﬂm (P& "UTTS Thent all®Bg QubDet wrk 2
Al C.@ureGsrurerdsmflurd Bl M. G.@urwéspslyert
C} K. emogms D} M. S. &lgeu gubl.
Who amdng the following received the first ‘Bharat Ratna’ a;ward ?
A) C. Rajagopalachari B} . M. G. Ramachandran
) . K. Kamaraj D) M.S. S;tbt)ulslkshmi.
77.  Gauren WS Lfletr bergemi_uiles: @er ey yhlen gedr ereoflen
A) 218 Flalugur s Seulub ByemL_eLdhldoemen
B) @@ sdlaigurer SlerGarm Leans ghudléveney
C) g SElsig e Hee (pss Gl iyt Seths (g dlng
D)  om seralliuiid Bleérerpss Calmium g et nrHnrg.
The net resistance of ’a’ voltmeter should be large to ensure that
A) it does not get overheated
B) it dpes not draw excessive current
C) it can measure large potential differences
D) it does not change the potential difference to be measured.
78.  wéils Gupm et oy pomet LS
A)  whlwretr @15?1@ | B)  GLmhsr oyl
C) dleSitemuetien oy Pl D) &NCa smf).
x [1501] ' 701 [ Turn over
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The cictepcst point in the Pacific ocecan is
A) Mariana trench ' B)  Tonga trench
C) Phillippine trench . D) ° Kurile trench.
79. SDHSHTIL apDDIBHET Sy lish
I GepBaraTed QIss sToHam) eTemey HFleMeGD

N, ea@lsrare @Ués sradlugdlen emamey GaonsGD.

E@eummyer :
A} 1wbdod 0 sfluraresey B)  lwppb U seupmeseneu
C)  lefl ganmes I peuny D) Igeup Senme el

Consider the following statements :

I Glucagon increases the blood sugar level.
It.  Glucagon lowers the blood calcium level.
Qf these
A) 1 & 1II are correct B} 1 &Il are wrong
C) lis correct butll is wroﬁg - D} Tis wrong butll is correct.

80. uawr &pihé Couagms &LOULGSSTS Fnpssi
A) UGOOTL[p & D|6TTeY
B) cuatile hipeuehiseies afibusner wHliy
C) &L cugdlamen
D} eumewilug @ipev.

Which one of the following factors does not influence velocity of circulation of

money 7
A) Quantity of money B)  Selling cost of business firms
C) Credit facilities D) Business conditions.

x (T501] | 701
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81. gpewr ([ Hamla ) pLangéens eresmmey
lA} ©lg I emEDTL) LITGIBTLIL] BIEOLOUILIGEIBID E’FFGIJG'\J.@]@Q)U_‘&} Garihe BLSdhu UTESTLL .
PHEms
Ié) 'gLrS‘Igp[_r;m'_!q.é Gipeedharile 2 pusdlen QUBSHEEUSHSTET b 6Ll &Hend
C) [DG‘Gﬂg')‘Q_I_LbL_cﬂGﬁT ST oW GeplLshaTar yglu el fldsame (penn |
D} @eubmpsi ergapbidane.
Operation ‘Hamla' means
A) security drill conducted by the police anq security agencies in Chennai
B) operation to increase the production of Amla in Tamil Nadu
C) new surgical technique to reduce body weight ( human ) .
D) none of these.
82. Y. V.Qply ple Qubplle eiow andlles samtagre wrt Hlulléeiu’ Lo 7
A)  Dr. Qi rhis e B) Dr. el shisal
C)  Dr.algl L. Gsasl D) Q@.‘D. gliLmyTell,
Who has been appointed as the RBI Governor after the retirement of
ShriY. V. Reddy ? |
A} Dr. Indra Rangarajan ‘ B)  Dr. Dilip Sanghvi
) Dr. Vijay L. Kelkar D) Shri. D. Subba Rao.
83, 20090 %c;dam}{bam'sw @ﬁ,gﬁ;}:ﬁ&ﬁ'ﬁj@ eond Lflams Qubpeur
A Qrévsed inedorGLqurr B) GLall Gawened
C)  godlun dloart® D) Goyé apdler.
The recipient of Indira Gandhj Prize for Peace in 2009 is
Al Nelson Mandela B}  David Cameron
C) duli; Gillard D}  Sheikh Hasina,
x {1501} 701 [ Turn over
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84. ulgwe I g ulgue II 2 e Qurpsd), Sy Qar@daiul.Gerer GHUHsmend
Qarea® efluren aloLawsd Caihbla® : -

Ulguée I _ ugwes II
(ygssb ) ( 2 &l )
a) & OflaNevmen 1. wrrgerr Garedl
D) SEUGHITH 2. Qe O
¢} apni@ Csieve 3. g whlees.
slpeer :
a b c
A) 1 2 3
B3) 2 3 1
C) 3 2 3
D) 2 1 3.

Match List I with List II correcily and sclect your answer using the codes given

below
List 1 ’ List II
(Books ) ( Authors ) ‘
a) The Privileges 1. Martina Cole
b) Avtar 2. Jonathan Dec
c) Hard Girls 3. Dic Mathison
Codes :
a b c
A) 1 2 3
B) 2 3 1

C) 3 2 3

D) 2 1

w
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2010 e, ahas HTLgE (3[575 \DEBTTL. UG ETT LD DD Q& i QPereng) 7
A yQls B}  yegwm
C) et D) exGpmiurr,

In 2010 which country changed its time zones ?

A) UK B3) Russia

C) Canada ‘ D) Europe.

Qidurale, ... ..... S sTweaTolouds andlla (poddlamer (bavLle oy&HeuL
2010 v Himseuiil.L gl

A) QL eSS B) oy englGredlur

<) GenTL{T D) Spurerhal.

Commonwealth Bank of .....ccoe........... in August 2010, opened it.s first Branch in

India in Mumbai.

~A) Denmark | B) Australia

C) Canada D) Ireland.

.................... 24651 Do el (P HE(LPETHDWITE uetléaL g
seior Bl H&IUCLg).

A) 29 gii76v,.2010 B) 29 Gel_buf 2010

C) 29 gereufl 2010 D) 29 S0geufl 2010.

The ice cubes were first discovered in onc asteroid on

A) 29th April, 2010 B) 29th September, 2010

C) 29&1 January, 2010 D) 29th February, 2010.
@riﬁﬁmrrefﬂ@@;fo Qaergl  SCriuralpend Gerde gbulle furg  elupsd
& QWIS HITET [HIT 6l '

A} 10 wniré, 2010 B) 15 wmié, 2010

C) 1 wrig, 2010 3) 5wmig, 2010,

Riyadh Declaration beitween India and Saudi Arabia was signed on

A) 10th March, 2010 . B) 15th March, 2010

C)  1ist March, 2010 D)  5th March, 2010.

x [ 1501 701 | | Turn oyer
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'89. 2012 gyb Sya@mghere spedlbils Cumligser pal.Qup 2 sier @) b
A)  evegorLeit B) S '
C) gy D) e
2012 Olympic Games is to be held in
A)  London | 'B)  Beijing
C) Athens | D) Sydney.

90. @hduremeus ebdiysien priGesiies erbs HTOLE 63 ool § hH silleyemen GbdHhur
2 (HeuTdhalujererg ?

A) ol : . B}. LT Sl erog, et

C)  @eursns D)  ukisarmGsey.

With which neighbouring country, has India created a joint river commission 7'
A) China - B) Pakistan

C) Sri Lanka | D)  Bangladesh.

91. colllsour ( FIFA ) 2010 dlbanat ‘euhsr cuham elein LTl ener LML euTiliy Wl (GHE
efleaiu L g 7

A} egsdnm | Bl . @yt geipwomed
C)  @evemuymgom D) wGmesrm.
Who presented the FIFA 2010 song ‘Waka Waka' ?
A)  Shakira ' B) A.R. Rehman
C) Ilayaraja D) Madona.
92. =9ee 2010 & urdleugretien oLt - Geusiren GuifiL i gpulL & ergemiome H
A)  Dabd - B) Abs
C)  Qeeimy | »D)  gmal.
The flood hazard in Pakistan during July 2010 is due to the flood in
A) | Jhelum B) Indus
C)  Chenab ' D) - Ravi.
93. 2 @dlGaBu Guflu @flu s6d o e ey 2 eierg 2
A} evGudles B} CGurigssed

Cy  eGymiur ' D)  gelywm.
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Which is the largest solar power plant in the world ?

A) Spain ' B}  Portugal
C) Europe D)  Russia.
94. 2010 b c%ar'mm,&,e,rrem g, . dier sreuCse allby seoew wLOHHID GETFEN]
gleonilids Qupmeu
A) &l dl. gerghblegwedt wHOIb FTHET SeotEhblawesT
B)  algu srhd '
C)  uswr elroesiub
D)  SeomneorL euid & (heiuensiehr .
G. D. Birla International Award in art and culture category for the year 2010
was given to
A) V. P Dhanaﬁjayan and Shantha Dhananjayan
B} Vijay Shanthi
C) Pa(ima Subramaniam
D) Kalamandalam Krishnan.
95. fusrs sPlpeiuGsduster GBS mLTIET GISH TBe TuEAE aab
DS o7 5
Al Crawed elwpHe B} Gaampmrafl egse
C)  slblip ewssl ‘D) (A}wbHod (B) Gyyesorpid
The newly introduced indian rupee symbol is based on
A) ‘ Roman script B) Devénagiri script
<) Tamil script : D)  Both (A) & (B).
96. ahe USHBTENDH GTaGHS by e Lgmwsbsesaret udsras e odialss
2_sleng) ? '
A)  1950-1960 B) 1980-1920
C)  2000-2010 D) 2011-2020.
Which decade is declared as the ‘Decade of Innovation’ by the Government of
India ?
A) 1950-1960 N B) 1980-1990
C)  2000-2010 ' D) 2011-2020.
x | 701 : ' [ Turn over
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97.

08,

99.

100,

2010 b 9),6007119.60 ' euD); DD LT gehmUy 2 §8) LIETR' RG BeLGLDHDE ?

Ay ACQuir-g -Qeyef Gy B) el

C) Omesfeun | D) an e e,

What was the venue of ‘Nuclear Security Summit 2010" ?

A) Rio de Janeiro B) Bali

C}  Geneva D) Washington. ’

2010 @év Qurmefweyssrs Crrud uflat Qupraeanler GLwrt erdter
A) St L LwnestL B) GLé wrmiaraes
C)  AfenvBLaur Neremylev D)  umé empGeucveed.

The person who is not awarded Nobel Prize in Economics in 2010 is

A) Peter Diamond B) Dale Mortensen

C) Christopher Pissarides D) Paul Samuelson.

2 05 BT G sal L 2009 & Hibs G)Lib ‘ ‘
A)  GuradlGur B)  worevGan

C)  @evaresiye D) oonGrmdl. ’

The meeting of the World Water Forum was held in 2009 at
A) Tokyo B) Moscow

C) Istanbul D) Nairobi.

GDD ULPSHE Leomesiley] gbLIbHLOIT e slusdlén, ( 2010 ) & »_sefdlwansdle Gmsa,
Sp Qarfasiul Gerereubidies erg sflureg 2

Al @bparalsaer &g OF sl g
B) C.B.l alerpeven QeluédnL g ‘ ’
C)  grés wkhe LHoD QUL sasLdiyb spallew 2 LGUTHILGHSS et T
D)  @eubmel ageabldamen.

Which among the following is correct with reference to recent ( 2010 ) Supreme
Court remarks over criminal case investigation ?

A) ‘No’ to arrest any criminals
B) - 'No’ to CBI inquiry
C}  'No’ to lie deilcctor and narcotesting

D) None of these.
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A) . Basdlpri Cempermds euyGeuberiul.Lmi
B) Gesdlpreny Gampesr suyGeuhmmes
C)  Beaadlpri Gempenen euyGeuhmmt
D) Gonypen Gasdlipreny sugGeupmrir.
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189. Qe ialemeiéd QeThODTL s SHevor_Hls.

190.

191.

192.

193.

194.

195.

A)  euglieou wrawieutsef grlenn Gledget

B)  sugly wreoeutgenreés grienn GlFlwiiLL L g

C)  gmieon wrewreuteast GlelgeT suglienu

D)  wrawseuise suglienu grenn Glehgeort,

‘0 byl SigGurer’ a;susmmqura'u'- aflersalQupid  ClurkGsswrarl QuTEmaens
Carpo\sH&s

A) CUTSHESHEUTHD ‘ | B)  Ugeurgh

C)y Garuweleaug D) s@Ebairsib.

Gl Guren Gisleub @p&Gs saupsg Curer — 2 auemwwured alerdslblunbd

QuIrm ST QuT(henerd Caibholehss

A) e B} &Q@eow

C} Qeumyeown - D) medtenid,

N AW LHSTD Guirew' — 2. quemibwred ellensaU@ILMID: GLT(hSBWwTeIl U bemers
CaithsH&s : :

A} Qsflurew B) Gseeu

C)  eflwiy -, D) umgrl®.

‘GTRSST  @oeule HoLss Oerdel Gurer — 2 aumwowurd  alleTésGLDD
Qun ®msporert Guigeeend CoThblahiss :

A sflurenw B)  eyfiug

C)  Cghse . D) Qsefley.

BEUDd sersuyd Cure — 2 eemnurd eleTdaliGunih QUIESSLTET! QUIGameTS
CaipolsHiés : )

A)  @ap&s ' _B) qa,gééé\

C) gbpeown : D) Geuppusowo.

serenrenn Ceueor@ib HgL eumpsoTe - FTGLTamaTaus & e

A)  Geuair@id —  aBSTR

B) &eTenmeow — Goustm®i

C) sefemmenin —  aUhpSeuTen

D)  setenmeno — &QW.
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196.

197,

198.

199.

200.

48

Gleubgeustd @)heeusstid @éaaﬂé) REGD - TGS OWE HEOTLDHIS.

A)  Qeubgeaetd
B) Qeupsaemd
C)  &dle

D) Gleukgeuenid

&l
HHGD
LG
@haeued.

Caellgud @esflumh G&beblp Glom bl Gui
Qupestemm (B aleriugng Hlophblges GomfGw - g @mﬁ)mﬂmmé HeoIL_ &,

A)  Gaellgub
B) GurlGu
C) (Egacoﬂ@;m
D) gelluph

Qe phaflp
QuomHGw
Geflum

Qeamhsblp.

(pHemien &rremmq[b TG Guniunesé

Gdleoreur edluyheerss @aﬂg‘;gé G&TQ\De1L) - gqﬁ]_ T G160 HEDWEH &HToIL D& .

Al oy
B)  wdlomquye
C)  sremwwb
D) erevowyd

mreoileud Liylyb Camd)

@legeur
gremnwyd

sLIT G

Qurrthmccmﬂé,. :

BITW&E HL.eyel Sbeow - S Guroaiamws &l He.

A)  prefleud

B) [HiT W& &
C) uguyb
D) mresie

]y gHTRIT:!
&L_qelf
SHDemLD

BT&HE,

Glaraaiinae aarsdiaeny Gl&aelname G

QT LmHEISGS sreafoaes ukpn‘ﬂ]m:emeo SDGWw - 2y @lenwNeneos H;Ges'muﬂ&a.

A)  pGo
B) GiFmevetinemay
C) Q& méadlnaney

D) Gleraalinensy

2bGw
Olaeuedloemes
eTeoTén e

D@L,
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| 2011
GENERAL KIgOWLEDGE WITH GE™ERAL TAMIL
Time Allowed : 3 Hours |, | { Maximum Marks : 300
Read the fouowiqg_ fnstru’&:tions carefuily before you begin to answer the questions.

K3

IMPORTANT INSTRUCTIONS

1. This Booklet has a_cfgvcr { this page } which should not be opened till the invigilator gives signal to
lopen it at the commencement of the examination. As soon as the signal is received you should tear

, 1the right side ‘of the bookiet cover carcfully to open the booklct ‘Then proceed to answer the
{questions. ' .

. This Question Booklet contains 200 questions.
Answer all questions. All questions carry equal marks.

The Test Booklet is printed in four sérics e.g. or [D](See Top left side of this page).
The candidate has to indicate in the space provided in the Answer Sheet the sertes of the booklet.
For example, {f the candidate gets series booklet. he/she has to indicate in the side 2 of the
Answer Sheet with Blue or Black Ink Ball point pen as follows :

ROl RGN .

iy

@

kX

fan

. B, You must write your Register Number in the spage provided on the top right side of this page. Do
not write anything else on the Question Booklet.

6. An Answer Sheet will be supplied to you separately by the Invigilator to mark the anawers. You
must write your Name, Register No. and other particulars on side 1 of the Answer Sheet provided,
failing which your Answer Sheet will not be evaluated.

7. You will aiso encode your Register Number. Subject Code etc.". with Blue or Black ink Ball point pen
in the space provided on the side 2 of the Answer Sheet, If you do not encode properly or fail to
encode the above information, your Answer Sheet will not be evaiuated.

8. Each question comprises four responses (A), {B}, {C} and (D). You are to select ONLY ONE correct
. response and mark in your Answer Sheet. In case you feel that there are more than one correct
regponse, mark the response which you consider the best. In any case, choose ONLY ONE response
for each question. Your total marks will depend on the number of correct responses marked by you

in the Answer Sheet.

8, In the Answer Sheet there are foux brackets [ AJ[ B [ [ C ] and [ D | against each question. To ¥
answer the questions you arc to mark with Ball peint pen ONLY ONE bracket of your chotce for '
each guestion, Select one response for each question in the Question Booklet and mark in the
Answer Sheet. If you mark more than one answer for one question, the answer will be treated as
wrong. e.g. If for any item, (B) is the correct answer, you have to mark as follows :

10, You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
After the examination is concluded, you must hand over your Answer Sheet to the Invigfiator. You
are allowed to take the Question Booklet with you only after the Examination is over.

11. The sheet before the last page of the Question Booklet can be used for Rough Work,

12.  Failure to comply with any of the above instructions will render you liable to such action or penalty
as the Commisston may decide at thelir discretion.

13.  For Question Nos. 1 to 100 in all matters and In cases of doubt, the English Version s final.
14. Do not tick-mark or mark the answers in the Question Booklet.
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